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1 The number of atoms in a simple cubic
unit cell of a monoatomic elementary
substance is equal to

(A) 1 (B)
(C) 3 (D) 4

2 Molarity of an aqueous solution containing
2g of NaOH in 200mL of solution is

(A) 0.5
© 5

(B) 10
(D) 0.25

3 When molten NaCl is electrolysed the
product obtained at cathode is

(A) Hydrogen (B) Sodium metal

(C) Oxygen (D) Chlorine
4 Which of the following is ore of
Aluminium
(A) Haematite (B) Cassiterite
(C) Dolomite (D) Bauxite

5 The least stable hydride of group 15

elements is
(A) NH; (B) PH;
(C) AsH; (D) SbH;

1. A Y1 Uh P HIFDHI H HUN bl IRSAT
Bt §

(A) 1 (B) 2
(C) 3 (D) 4

2.2 g NaOH, 200 mL STeitd faee T ® Sufkyd
%, faema ot | ﬂ?(‘llf?l’rﬁ:

(A) 0.5 (B) 1.0
€ 15 (D) 0.25
3 %fdd NaCl & dggd 3fuucd 9
FUC WU AT
(A TESSE  (B) WS org
() SRS (D)
4 38 A TGAFATE (Al) FT IR §
(A) gHTISC (B) pHIRZe

(C) SIMEe (D) S8 T

5 G 15 & dadl T gAdH [T ara
RESIESE

(A) NH;
(C) AsHs

(B) PH;
(D) SbHs;




6 Which of the following is a transition

element
(A) Fe (B) Hg
O dd (D) Zn

7 CH3-CH,-Br + KOH (,q) = ‘A" . Here ‘A’ is

(A) CHZZCHZ
(C) CH,=CH-Br

(B) CH5-CH,-OH
(D) CH5-CH;

8 An atom at the body centre of a unit cell
contributes to the unit cell

(A) 1/4 (B)
(C) 1 (D)

1/2
1/8

9 Which of the following is not a colligative
property

(A) lowering of vapour pressure

(B) elevation of boiling point

(C) depression in freezing point

(D) relative lowering of vapour pressure

10 If 96500 C electricity is passed through CuSO,
Solution, it will liberate

(A) 63.5 g of Cu
(C)127 gof Cu

(B) 31.76 g of Cu
(D) 95.25 g of Cu

11 Van- Arkel process is applied for the
purification of

(A) Fe
(C) Cu

(B) Ni
(D) Zr

12 Atomicity of phosphorus is

(A) 2 (B) 3
(C) 4 (D) 5

13 CHs3- CH,-l + AgCNg --> ‘A’ . Here ‘A’ is

(A) CH3 - CH,-NC
(C) CH;-CN

(B) CH3 - CH,-CN
(D) CH;-NC

6 STH AP IPAV TG R ?

(A) Fe
(ONEs)

(B) Hg
(D) Zn

7 CH3-CHy-Br + KOH o > ‘A'. T8I ‘A'8

(A) CHZZCHZ
(C) CH,=CH-Br

(B) CHs-CH,-OH
(D) CH;-CH;3

8 TUhd DIBHI & B (body) TR IURYd HUI
B Thd HIYH A NS gar g

(A)  1/4 (B) 1/2
€ 1 (D) 1/8
9 99 q P SRR T[uref AT | 2

(A) a1 G1d | 3fa=4

(B) YD dATTHM H IAT

(C) ferie auHM H 3@+
(D) 99 1§ H 3ATUfee 3@

10 CuSO, & fa@TT T 96500 C 3{TAT YdTed
B R faaferg g :

(A)63.5g Cu
(C)127 g Cu

(B)31.76g Cu
(D)95.25g Cu

11 G 3HThd T &1 JRT i org o qMe
EARINECI

(A) Fe
(C) Cu

12 BRBRY & RRATUIHAT § -

(B) Ni
(D) Zr

(A) 2 (B) 3
(C) 4 (D) 5

13 CHs- CHy-l + AgCNgig -—-> ‘A’ . T8I ‘A'®

(A) CH3 - CH,-NC
(C) CH;-CN

(B) CH; - CH,-CN
(D) CH;=NC




14 The percentage of available space occupied
by spheres in a hexagonal close packing
(hcp) in three  dimensions

52.4%
76%

(A) 26% (B)
(C) 74% (D)

15 What is the effect of temperature on
osmotic pressure of solution

(A) It decreases with increase in
temperature

(B) It increases with increase in
Temperature

(C) No effect of temperature

(D) it decreases first and then increases
with increases in temperature

16 Which of the following ions is coloured in
aqueous solution ?
(A) Ti** (B) V**
(C) Cu* (D) Zn**

17 Close packing is maximum in the crystal
lattice of :

(A) face centred cubic
(B) body centred cubic
(C) simple cubic

(D) all have same value

18 A molal solution is one that contains one
mole of a solute in :

(A) 1000 g of solvent
(B) 1 litre of solution
(C) 1 litre of solvent

(D) 22.4 litre of solution

19 Copper crystallises in face centred cubic
lattice with a unit cell length of 361 pm.

What is the radius of copper atom in pm:

(A) 108
(C) 157

(B) 128
(D) 181

14 ffon ¥ yeo iy fAfde dga o Iudsy wiF

1 faraT Ufdrerd Ml gRT O”1 Sl @
(A) 26% (B)  52.4%
(C) 74% (D)  76%

15 fIa" & URRIRUT 16 UR dTUH &1 T

UG BT @ ?

(A) T8 AIHH H 9fg 89 W gedl §
(B) % AU H i 81 R §g1 &
(C) dTYHTT BT DIg UHTT 7! 8idl &
(D)Wﬁ%@@ﬁmu@%ﬁm%

163?%@[%%%3@3@@?@%
?

(A) Ti**
(C) Cu*

17 399 ¥ Ty foheediia oiia® | Afas
AP HAHAT @ ?

(B) V3+
(D) Zn**

(A) HAP biod g
(B) i< dfd &g
(C) WA

(D) T &1 HH THE 8

18 Hiad faea I8 faaae & fouH v A fac
JURA R :

(A) 1000 g facras &
(B) 1 faex faega &
(C) 1 ferex faama® |
(D) 224 faex faaa= &

19 PR BAD diad g4I Thd Id | fhedipd
B 8 | U I & fbR P1 TaTs 361 pm 7 |

HIR TRATY] B1 FB3a1 pm & 1 g1l 2
(A) 108 (B) 128
(©) 157 (D) 181




20 A mixture two liquids A and B has boiling
point higher than boiling points of both
A and B . The mixture is :

(A) ideal solution

(B) non- ideal solution with negative
deviation from Raoults's law

(C) non- ideal solution with positive
deviation from Raoults's law

(D) normal solution
21 For a galvanic cell , which one of the
following statement is not correct

(A) anode is negatively charged

(B) cathode is positively charged

(C) reduction takes place at anode
(D) reduction takes place at cathode

22 What mass of glycerol( C3HgO3) should
be added to 600 g of water to lower its
freezing point by 10° C ?

(A)496 g (B) 297 g
(©)310¢g (D) 426 g
23 During the extraction of iron, limestone is
added which acts as

(A) flux
(C) reducing agent

(B) slag
(D) gangue

24 The number of P-O-P bridges in the
structure of P,Oqq.

(A) 3
@ 5

(B) 4
(D) 6

25 The number of vacant orbitals in the
valence shell of phosphorus is :

(A) 3
€ 5

(B) 0
(D) 6

26 Electronic configuration of Cu is

(A) [Ar] 3d° 4s°
(C) [Ar] 3d® 4s?

(B) [Ar] 3d" 45’
(D) [Ar] 3d" 452

20 G159 A 3R B & 31 &1 &y A 3R B
3 P HUe T B 7, A Yo e
(A) 3iexf faeas
(B) X3 & F9H I HUMTHS fdaa
(C) I3 & HTH T YATdHD fdae
(D) ArHd faaa=

21 70 T B I HYF e I & g Tal
TRIE?

(A) TS B -TARE BT & |
(B) HUE Y9-SHMARIT BT B |
() TS W AIITTGIAT G |
(D) FUS R UITI AT |

22 600 g ofd | fRRId ( C3HgO;) @ fbat
AT e IR 3961 fgHidh 10°C & g SITE |

(A) 496 g
(©)310g

23 e & Frsepefor & T TR firemar S 8 S
T HRATR -

(B) 297 g
(D) 426 g

(A) GG BT R
(C) 3TITH P! ARG

(B) UTIHT B @
(D) T &t RE

24 P40 1 TRA H P-O-P Ig &1 G=AT BTN

(A) 3
© 5

(B) 4
(D) 6

25%@W$W$&[ﬁﬁﬂﬂ$&lﬁaﬁm

(A) 3
@ 5

(B) 0
(D) 6

26 Cu @1 SAdeI e A & -

(A) [Ar] 3d° 4s°
(C) [Ar] 3d® 4s®

(B) [Ar] 3d" 45’
(D) [Ar] 3d™ 4s®




27 E%.4 of three metals A,B,C are
respectively +0.5V, -3.0V and -1.2V. The
order of reducing power of these metals
is

(A) A>B>C
(C) A>C>B

(B) C>B>A
(D) B>C>A

28 The product/s of the following reaction
is /are:

dry ether
CoHs-Br + 2Na + CHy-Br >

(A) Butane
(B) ethane, propane and butane
(C) propane

(D) ethane
LiAlHa . .
29 CHs;CHO + 2H > 'A'. Here 'A'is
(A) CH3;CH,0H (B) CH;0OH
(C) CoHs (D) CH,4

CHs
Heat Tl
r % A. Here'A'is
30. @ ’ Sunlight

CHz-Cl

10
CHs
201
cl
31 The IUPAC name of the compound
shown below is :

CH3
Cl
(B)
CH3
(3) @
Cl

|'CI

@\ Br

(A) 2-Bromo-6-chlorocyclohex-1-ene

27 A UTg3i A, B Td C BT E0oq T HHRT:
+0.5V, -3.0V 3R -1.2V &, 37 urgaii o

3T Tfad &1 HH BT
(A) A>B>C (B) C>B>A
(C) A>C>B (D) B>C>A

28 frafafad sifyfear o1/& Iare g/ 8

C,Hs-Br + 2Na + CHs-Br m;_
(A) g

(B) S0, o ud oA

(C) U

(D) 38

LAIH: a2t
29 CHsCHO + 2H ————> A" T@l AT

(A) CH5CH,OH (B) CH;OH
(C) CoHs (D) CH,
CHa
Heat =
al H 'ALTURT AR
30'@ s Sunlight
CHx-Cl CH;
Cl

(A) (B)

CH; CH3
(@ @ (D)
Cl
cl

31 f& U AfAIH BT IUPAC ATH T

|CI

0\ Br

(A) 2-ST)-6-FAR TGN G- 1-37




(B) 6-Bromo-2-chlorocyclohexene
(C) 3-Bromo-1-chlorocyclohexene
(D) 1-Bromo-3-chlorocyclohexene

32 Hydration of propene in the presence of
dil. H,SO, gives :

(A) CH;-CH,.CH,-OH
(B) CH3-CH(OH)-CH;s
(C) CHs-CH,-OH

(D) CHs-OH

33 Reaction of HCHO with CH;-MgBr
followed by hydrolysis gives :

(A) CH;-CH,.CH,-OH
(B) OH-CH,-CH,-OH
(C) CHs-CH,-OH

(D) CHs-OH

H2504
443 K

34. C;Hs-0OH > A. Here'A'is

(A) CHZZCHZ
(C) CH3;CHO

(B) CoHe
(D) CH,

35 CH;3-CH,-O-CH; + HI > Products are :
(A) CHg-CHz-OH + CHg-I

(B) CH3‘CH2—| + CH3'OH

(C) CHg‘CHz-l + CHg-I

(D) CHs-CH,-OH + CH3-OH

(B) 6-5HI-2-FAR GG o
(C) 3-5)-1-FAR A g R
(D) 1-51H1-3-FAR AT R

32 a1 H,SO, &1 Iuffd & Uit &1 gIsexH
(SIS ) PRA R UM ST §

(A) CH3-CH,.CH,-OH
(B) CHs3-CH(OH)-CHs
(C€) CH;-CH,-OH

(D) CHs-OH

33 HCHO &t 3ifNfhar CH;-MgBr & |1 &
& 1 S 3TI W18

(A) CH3-CH,.CH,-OH
(B) OH-CH,-CH,-OH
(C) CH;-CH,-OH

(D) CHs-OH

H2504

34, C:Hs-0OH 143 K

> AL TG AR

(A) CH,=CH,
(C) CHsCHO

(B) CoHe
(D) CH,

35 CH;-CH,-O-CH; + HI

>3d1G B -

(A) CH3-CH,-OH + CH3s-I
(B) CH;-CH,-1 + CH5-OH
(C) CH;-CHy-I + CH3-I

(D) CH;3-CH,-OH + CH;-OH




